Eureka Math Grade 4 Module 3 Mid-Module REVIEW Assessment

3. A movie theater has two rooms. Room A has 7 rows of seats with 14 seats in each row.
Room B has three times as many seats as room A. How many seats are there in both rooms?
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Theve sve 243 cegis in both rpomS.

4. The high school art teacher has 6 cases of crayons with 61 boxes in each case. The
elementary school art teacher has 9 cases of crayons 112 boxes in each case. How many total
boxes of crayons do both teachers have? Is your answer reasonable? Explain.
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Both +eachers have ,3T4 crayons, My answer 14 reasonables
bcamst ¥ 15 very close +p my eefimate of L ALO.

5. Last year, Ms. Petersen’s rectangular garden had a width of 4 meters and an area of 32
square meters. This year, he wants to make the garden three times as long and two times as

wide.



